SME0/=2 J[8HA|

1] 7128 s
O At

Az | ey

AQeA | ASEUA =UT EUR 1238 (BALHED)

P & (A1) Bzg) ()

o'l 975,2504¢ 975,25044 0%

geqge | O HAETIERS AALG Bk della $F 28 44

° (F1AA, oflolHA, AZEAZAA) A
AR | MARSE DA Bz agdeld DEdas Ougsld [7e
AQARFA | AAT BAEHEB

L] Al A 2 AIEER LA o7

At | Al | FAAA | g8 | 7|eAA (AR A HSAAL | 5204 | bAoA | RS
- O O O O O O O O
3% | FA
]
(] A EFEX}
Al A 3 7 el 53
EAgm A - SN
] 71 TFAERIEX T
AdvlE ool 2} 2124-5265 - 9124-5270
/l] al U] %—1 ':'HT’(—I_%U] %:‘1{_]_' A '?‘oé - ﬂ%;ﬂ
" - hof| 2} 2124-5265 - 2124-5268
A2l EAgu|EH A - 7 A sk
v Stof 2} 2124-5265 - 2124-5271
Aelu] 4z %@ su| & A F - ZA8A
v Sol| 2} 2124-5265 - 2124-5269
2 off AF A o




L]
=2
P
O
[}
=
1o
rN-
o

A (x-) (x-) (x-) (x-) (x-)
770,620 800,000 975,250 175,250 21
o (x-) (x-) (x-) (x-) (x-)
Al 739,720 772,900 941,050 168,150 21
EEXYSe (x-) (x-) (x-) (x-) (x-)
oo 17,800 14,000 13,000 A1,000 AT
A A FA Y 73 (x-) (x-) (x-) (x-) (x-)
Z14] 4,700 4,700 4,700
(x-) (x-) (x-) (x-) (x-)
q
Sl o] 7500 7500
. (x-) (x-) (x-) (x-) (x-)
)| ] =
vl ads 9,000 9,000

L] ollah 27 LY & M=

SERE] A% A
0 AAFA = 578,40044
- AE o2& Ax HA = 208,4004¢
= P = 158,40044
17,600,0009*9%]
= R = 50,0004
50,000,0009%13]
- AAZY A = 300,000%4
30,000,0004*10%]
~ Al Hlo] = 70,0004
AEe)n) 10,000,0009*7%]
0 AA) & - 160,7504¢)
- 993 2 = 3,75044
150,0004*5% *53]
ol E A = 120,000
12,000,0004*10%]
_ udqjl ujl %515'_ = 15,000’3%
1,500,0004*103]
- AAAE o - 22,0004
2,200,00049*103]
0N TH = 49 50044




IETE AR AEHY
4,950,0009*103]
O AAMEE 24 = 5,4004<
1,800,000%1*33]
08x27.-2Y ZTEAE = 147,00044
147,000,000¢
O AEHYE 9 $HUH] = 10,0004
e 10,000,0009
"6‘"6"1'_'_‘05]]:]] o0& 7 0] _ 9
0 T%%.Zl-%‘.d iizi}E_ = 3,00075*&
3,000,0009
o 0 #7} 5 WA 39 = 4,70044
AAFALTEA ] 470,00091°102)
O AATAA ZHon)| = 7,50044
EY! T ,
il 1.500,00091°5%
. 0 AAAEA AN = 9,000%44
S PARA! AL " ’
SN R 900,0009%103]
3| A HdH
(] A2
O dulzoll t3t olaliel SHE FA st FAle Ao 543} 2+
oot 718AA AHE Sl AGFRY LFshe ARyE X9k
v w9 B AR 3 deH £ 2F
1 AFH2A
o y{EY <
- A=SHA g rIge] A 9l ool BE = AI8= A27
O 71k SACEH, AA 5)
- ASAl"Hu s 3 A
(] AIHLHE
o A AA 2T FLE 1238 AAIH HAEHER
O T B BASH R AAA(FHA 2,170m) HA)
O A7z - 2017. 1 ~ 12
O Adlg @ FASHIEI AATIEA, oJdlolAA], AEEALA,
FHEL.TD ZEAE) A
O FAH] © 975,250




A] J—,/]_ B
g7k wAlEnlE kel A ol
o

Al 5% 7
N2 (MBA 23
i , %0]}1(:1/(] 1§

EAZA 13)

| =3

=

SRED
L A4 113
1 113 7NH (7184 83, ofgle]
. Al

=

020144
13])

-
< _
™ X
znﬁ o X -~
0 J— oy ,
_— Mrlc AN m z T .
X ju LL.W L NO dﬂﬁ_ﬂ\l i =
- o o To” =0 o 2
O#O ...—d; X oF &S ™o ERIC
M]Nm uNT. s M_.W__ i% = 8o oy = ,#m NS
Ll ~ ~ < | oo o R
- —_— — ..ﬂ.ﬂ X - plo A g X
~ 3 = = o SO = o s
3 To ~ M XA op = R
‘X|1_ - ~ o — N olo = ,N%AOAV R
2 4 o o JM_ X ! 0 X RH@E Wi
TN & D =0 2% N T o
s M % 5 By T SeETLR
- 0 < N o B T N &\umzLLdﬂﬁd
..ﬂv/l X A ﬂ.T & UT_ Mr . ﬁo».#onﬂ_.“ ,X,
D~ X = 8 o ~X Al Srok _l/rn,_vwmo =0
— — < X o ﬂ_ o 3 W@uﬂmW%M
S o J = 2 N
e o B M= r N | 3 T
A e R e e | 8 2
Do HE i <7 wX e S
= T @z ) z " e 2
= AT R g s = &
; _ N = B0 = —_—
5 T ORI T REL %
s —_—
= Bz riiiir N
< Y ) Cell Mt | % { - HAE m W
(s ol wo = o H R i il ,mﬁ o) ,M = N
T oy < A (S melia o do 0 N =
™ 2 R T = ol
©Cr < oy Mo g " o g =
L0 X X5 o 10 3 e g | =
= o T R CREN |y S B K 2
~Q X K] B N ~ o] K .
SR o4 %“w%ﬂmmﬁéﬂ. .
lwm]._.]rﬁooﬂ+ o BT Ihqmﬂ_ﬁea o
O O7x=*ohﬂﬂrxrovﬁo]%x%lﬂaa [ =~ e
Kio o R K3~ s X B m| X o} o
O O Lo 3l <& %) o T O~ =D
u @) ol NS T o~ N = = EX
< O e) ! o o " ny
| X R Mo
[] v
L] o




4| At &
] &2 3@ FIAH

20144 % 020149% : BAgu|<d A 113] MH(7]EA 83], ofglo]A 23],
o ASEAL2A 13])

20154 % 0 20154¥% : BALuEI AA 103 MH 1A 73], ojglo]d 23],
o AEEA2A 13])

20164 % 02016Y%E : HAgu|<d AA 103] MH (1A 73], ojglo]A 23],
o AEEALA 13])

O A gvu|sie XGHA-} F7HHE SA3 Ak A= AA| 7F
O ANFNANY BAZZIREAeR ANFEA T 4
A EEEEREE:
(k9] - A9
AL | HZei Hudo|d o] Al 7 o] A& K pE Ad ol A e 7R
9013 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
143,400 0 0 143,400 131,776 0 11,624
9014 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
491,000 0 0 491,000 460,670 0 30,330
92015 (x-) (x-) (x-) (x-) (x-) (x-) (x-)
509,400 0 0 509,400 495,598 0 13,802




